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HEE T g | wEE | RERRLO D paomes wmemkGe|  FHRO B IR RIS

TUVUERIC RSN U
65-088 H1E vk ‘B TPG-FEB9Y 2,998 HE 7,185 F¥ 7 A= H21#  |ZX23T4P10% (GAT4) J DB DIT IR
2

TV RIS RSN YR
65-088 HE ok ‘5 TPG-FEB9Y 2,998 X 7,885 Xy T A —N H2148  [KA3T4P10% (GAT4) | DEHDIZFR
50

TV S
65-088 Vo AN B TPG-FEB9Y 2,998 HE 7,885 Fr T A —N H21#E |=X03T4P10%Y (GAT4) | OB DIZRR
Do

TV RSN U
65-089 HE VR =t/ TPG-FEB9Y 2,998 (9% 7,185 Xy 74— H21#8 | A34P10% (GAT6) | DB DIZ R
)

TV S N T
TPG-FEB9Y 2,998 X 7,185 R P A H21#8 |Z23T4P10% (GAT6) | OB DIZER
}:)O

65-089 1Bk

™
Mg
=
&

TV USRS T
TPG-FEB9Y 2,998 H 7,885 Fx 7 AN H21#8 |=XA3T4P10% (GAT6) | DL DIZRR
2

65-089 1Yk

pirg
N

TV RSN U
TPG-FGA2Y 2,998 HE 4,890 Fr T A= H2148  [A3T4P10%Y (GAT2) 1 DHDIZ[R
%6

65-090 7Bk

il
§

I RIS TN gy e s
TPG-FGB7Y 2,998 X 5,725 Fy 7 A —N H21#E [KA3T4P10%Y (GAT4) | DHDIZIR
24

65-091 HE vk

™
Mg
=
&

TV UERICEREN A
TPG-FGBTY 2,998 X 6,725 Xy T4 —N H214  [FKA3T4P10% (GAT4) | DHDIZFR
%)0

65-091 1Bk

S
A
=
&

VUSRS YR
65-092 Vo AN B TPG-FEB8Y 2,998 HE 5,165 Fr T A —N H211E |ZN03T4P10%Y (GAT4) | 0L DIZRR
Do

TV RSN U
65-092 HE R It/ TPG-FEBSY 2,998 HE 6,165 Xy T F—N H21#E [A3T4P10%Y (GAT4) | D DIZ IR
%)

TUUUERICRRS N T
TPG-FEB8Y 2,998 X 7,165 Fy 7 A= H2118  |ZX23T4P10% (GAT4) | DL DIZ[R
%)O

65-092 HER £

Mg
=
&
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e 7 T N S S %ﬁkﬁ%(cc) okl S AAe YN = ﬁﬁg'ﬁ‘ﬁ@ };ilzﬂjﬁx By L2 fH it
BEE T B4 & H iR g ) PRBLOFEFESE  [FE T B & (ke) Ttk Ll FBEITRD RN
TV
65-093 HE vk ‘Y TPG-FEB8Y 2,998 HE I 7,165 Fr T A —N H21#8  [KA3T4P10%Y (GAT6) | D DIZIR
Do
TUUUERICRES N T
65-093 By B TPG-FEB8SY 2,998 X 7,165 Fy T A —N H21#8  [FKA3T4P10%I (GAT6) | DEHDIZIR
%)0
TV UERICEEEN A
65-138 VoMaAN iS¢ TPG-FEA8Y 2,998 I 4,855 Xy 7 A — H214  [KA3T4P10% (GAT4) | DHDIZFR
%)0
TV USRS
65-138 VoY B TPG-FEAS8Y 2,998 HZ 5,855 Fr T A= H211E |ZX23T4P10% (GAT4) | OB DIZRR
o
TV RSN U
65-138 HE VR =t/ TPG-FEA8Y 2,998 (28] 6,855 Xy 7 F— H214E |ZA34P10% (GAT4) | OB DIZ[R
Do
. & DI 2N
65-139 EREA %% | TPG-FGA5Y 2,998 5 4915  FyTA— H2 145 %%E%@i'iﬁ [4P10(T4) JOHD
. . R . e DI AT
65-139 RN 5% | TPG-FGAS5Y 2,998 R 5,805| Sy A— H2 L JE%%@ HAPL0(T4) J OB D
65-140 HE vk =L TPG-FED9Y 2,998 I 7,875 Xy 7 F— H21#8
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